FORM MR-35

SUPPLEMENTARY BY-LAW

				BY-LAW NO	•	2143
A BY-LAW TO PROVIDE	FOR	THE 19 64 E	ХP	ENDITURES ON	ROA	DS OR STREETS
N THE CITY	www OI	1		NORTH BAY		IN THE
XXXXXXX OF		Ninigging				
DISTRICT OF		MEDISSING				
WHEREAS under ture on roads or street approval.		-		ent Act a by-law nually to the Mir	_	-
THEREFORE th	ie Cou	ncil of the Co	rpo	ration of the said	City	y / S ierphysi kkakakakak
Supplements (1) The/sum of \$\frac{7}{2} construction \(\mathbf{X}\	5,348.	.88is her ofxobexpoadscan sewers	reby Ockho	estimated as the	e exp	penditure upon the
	C	ONSTRUCTION		MAINTENANCE		TOTAL
ROADS	\$	······································	. \$		\$	
Storm Sewers	\$	75,348.88	. \$. \$.	75,348.88
ENGINEERING AND OVERHEAD	\$. \$		\$	
TOTALS	\$	75,348.88	\$		\$	75,348.88
(4) The approval or penditure is authorized or ures or monies raised in	r work	commenced w	_			· ·
Passed at North	Bay	this	2-71	day of Ma	reli	_A.D. 19 <u>64</u>
(SEAL)						
Clerk	pai	2		M	ayor.	Luon
Thos. A.	Frair	, Cler	k of	the Corporation	of th	ne City Separatedy For
of North Bay	., do h					-
No. 2143 passed	d by th	e Council of th	e s	aid Corporation o	on the	e 2nd
day of March	1	19_61	<u>-</u> .			2
APPI H 75,	300.	JED ONLY		4	CI	The fair

CITY OF CORTH BAY

ROAD PROGRAMME THE YEAR 19 _64_

				ESTIMATED COST			
STREET	FROM	то	LENGTH	WIDTH	DESCRIPTION OF WORK	TOTAL	CORPORATION'S SHARE
Mipissing St.	Gorman St.	Harriet St.	2801		36° # Storm Sewer	8,911.36	6,683.5
•					1 Manhole @ 250.00	250.00	166.6
Mipissing St.	Harriet St.	Main Street	2401		30" & Storm Sewer	3,944.19	2,760.9
					2 Manholes @ 250.00	500.00	333.3
	<u> </u>				2 Catch Basins @ 125.00	250.00	166.6
Mipissing St.	Main Street	McIntyre St.	3051		30" & Storm Sewer	4,559.73	3,191.8
	<u> </u>				2 Manholes @ 250.00	500.00	333.3
					4 Catch Basins @ 125.00	500.00	333.3
Mipissing St.	McIntyre St.	Copeland St.	3501		30" & Storm Sewer (Lo-Hed)	6,294.20	4,405.9
					1 Menhole @ 250.00	250,00	166.6
					2 Catch Basins @ 125.00	250.00	166.6
Nipissing St.	Copeland St.	Jane Street	3501		30" & Storm Sewer (Lo-Hed)	6,636.45	4,645.5
					1 Manhole @ 250.00	250.00	. 166.6
					4 Catch Basins @ 125.00	500.00	333.3/
Clarence St.	Jane Street	Vimy Street	4151		33" & Storm Sewer	9,321.73	6,779.4
					2 Manholes @ 300.00	600.00	400.00
					5 Catch Besins @ 125.00	625.00	416.67
Clarence St.	Viny Street	Morwood Ave.	5801		33" ø Storm Sewer	9,287.73	6,754.73
			·		2 Manholes @ 300.00	600.00	400.00
					6 Catch Basins @ 125.00	750.00	500.00
Clarence St.	Morwood Ave.	Greenwood Ave.	2761		30" # Storm Sewer	4,056.97	2,839.88
					1 Manhole @ 300.00	300.00	200.00
					3 Catch Basins @ 125.00	375.00	250.00
Clarence St.	Greenwood Ave	Elmrood Ave.	2551		27ª ∮ Storm Sewer	3,417.97	2,278.65
					1 Manhole @ 300.00	300.00	200.00
					3 Catch Bashs @ 125.00	375.00	250.00
					TOTAL ITEM 1	63,605.33	45,123.77

CITY	MAN THEFT	13.4
I-OF	 HORTH	24

ROAD PROGRAMME FOR THE YEAR 1964

EM 2-CONSTRUCTION-BRIDGES AND CULVE	N-BRIDGES AND CULVERTS				ESTIMATED COST		
BRIDGES-STRUCTURES OF 10' OR OVER			TC	TAL	CORPORATION'S SHAR		
STREET	TYPE	SPAN		\$	\$		
			3				
				* * *			
			 				
		4 × V	क्षर र से	, i.,	=======================================		
CULVERTS-PIPES AND STRUCTURES LESS THAN 10' SP							
		AL ITEM 2		·			
					<u>`</u>		
EM 3-ENGINEERING AND OVERHEAD (MAXIM	UM 7% OF ITEMS 1 A	ND 2	·				
EM 4-MAINTENANCE-ROADS OR STREETS							
EXTRAORDINARY RESURFACING	Programme Andrews						
TYPE OF SURFACING STREET FROM	м то	LENGTH					

	•						
-			- B		-		
		•	•				
	•	1		•			
		1	i ii v	1, 1	,		
		****		**	_		
•		<u> </u>	10 to				
RDINARY MAINTENANCE AND REPAIR	*						
SNOW CLEARING	MILES						
	324		er Y	, a* , .1			
VINTER CONTROL SANDING OR CINDERING	MILES		-	, , , , , , , , , , , , , , , , , , , ,			
APPLICATION OF SALT	MILES	 ··.		<u> </u>			
SPHALT PAVEMENT PATCHING							
ONCRETE OR BRICK PAVEMENT REPAIRS							
TONE GRAVEL OR CINDER RESURFACING	MILES				į.		
	W1220						
" " PATCHING							
" " DRAGGING		-	_	•			
" " DUST LAYING (CA.CL.)	MILES						
DILING	MILES	· · · · · · · · · · · · · · · · · · ·					
CURB AND GUTTER REPAIRS							
* *		-					
CATCH BASINS CLEANING AND REPAIRS			-				
	<u> </u>		 		 		
	·						
	тот	AL ITEM 4		· · · · · · · · · · · · · · · · · · ·			
•				* .			
EM 5-MAINTENANCE-BRIDGES AND CULVER	≀TS		1				
BRIDGES	NUMBER						
CULVERTS	NUMBER	•					
COLVENTS		AL ITEM 5					
			 				
EM 6-ENGINEERING AND OVERHEAD (MAXIM	UM 7% OF ITEMS 4	AND 5)					
JMMARY OF ITEMS ELIGIBLE FOR SUBSIDY U	INDER THE HI ACT			CORRORAT	TION'S SHARE ONLY		
THIMAK! OF ITEMS ELIGIBLE FOR SUBSIDITE			-				
CONSTRUCTION-ROADS OR STREETS	(ITEM 1)	,	-	\$ 52,95	2.80		
			L				
-BRIDGES AND CULVERTS	(ITEM 2	!)	j	_			
	(ITEM 2		·	\$	***		
-BRIDGES AND CULVERTS -ENGINEERING AND OVERHEAD	•	3)	-	\$ \$	-2,		
-BRIDGES AND CULVERTS -ENGINEERING AND OVERHEAD MAINTENANCE - ROADS OR STREETS	(ITEM 3 (ITEM 4	3) 1)					
-BRIDGES AND CULVERTS -ENGINEERING AND OVERHEAD MAINTENANCE - ROADS OR STREETS -BRIDGES AND CULVERTS	(ITEM 3 (ITEM 4 (ITEM 5	s) s)		\$	- 2,		
-BRIDGES AND CULVERTS -ENGINEERING AND OVERHEAD MAINTENANCE - ROADS OR STREETS	(ITEM 3 (ITEM 4	s) s)		\$			

If insufficient room attach additional sheets giving the data in the form indicated

DATE February 19, 164

March

FORM M.R. 26

CITY OF

ROAD PROGRAMME

THE YEAR 19 64

					ESTIMATED COST		ED COST	
STREET		FROM	то	LENGTH	WIDTH	DESCRIPTION OF WORK	TOTAL	CORPORATION'S
	•				ļ <u> </u>	"Carried Forward"	:	•
Clarence !	St.	Elmrood Ave.	Maplemood Ave.	2761		24" # Storm Sewer	3,364.70	2,243,1
						1 Manhole @ 300.00	300,00	200,0
		-				3 Catch Basins @ 125.00	375.00	250.0
Clarence S	Bt.	Maplewood Ave	Oakwood Ave.	2761		21" / Storm Sewer	2,974,64	1,983.0
						1 Manhole @ 300.00	300,00	200,0
						3 Catch Basins @ 125.00	375.00	250-0
Clarence S	Bt.	Oakwood Ave.	Dead End	3601		12" ∮ Storm Sever	2.954.21	1,969.4
						2 Manholes @ 300.00	600.00	400.0
				-	_	4 Catch Basins @ 125.00	500.00	333.3
						NOTE: Included in amount shown		
						under Corporation's Share		
						is direct proportion of pipe		
						sise over 27" diameter which		
						is not eligible for subsidy.		
								· 🛵
								24
			•					-
,								
								g 3. _= . •>
								2.7 A
						TOTAL ITEM 1	75,348.88	52,952.80

CULY OF

MORTH BAY

ROAD PROGRAMME FOR THE YEAR 19 64

ITEM 2-CONSTRUCTION	N-BRIDGES AN	ESTIMA	TED COST			
BRIDGES-STRUCTURES O	F 10' OR OVER			_ 	TOTAL	CORPORATION'S SHARE
STREET		TYP	E	SPAN	\$	\$
		· · · · · ·			<u> </u>	
CULVERTS-PIPES AND ST	RUCTURES LESS	THAN 10' SPAN	NUMBE	D		
				L ITEM 2		
			4 100			
ITEM 3-ENGINEERING	AND OVERHEAD	D (MAXIMUM 7%	6 OF ITEMS 1 AI	ND 2		
ITEM 4-MAINTENANCE	-ROADS OR ST	REETS				
EXTRAORDINARY RESURFA	ACING			,		
TYPE OF SURFACING	STREET	FROM	то	LENGTH		
				-	-	
					,	
	1			<u> </u>		
ORDINARY MAINTENANCE	AND REPAIR				• 6	
SNOV	V CLEARING	4.4	MILES			
WINTER CONTROL SAND	ING OR CINDERIN	ıg	MILES			.,
(APPL	ICATION OF SALT		MILES			
ASPHALT PAVEMENT PATO	CHING				·	
CONCRETE OR BRICK PAV	EMENT REPAIRS				-	
STONE GRAVEL OR CINDE	R RESURFACING		MILES			
** 11	PATCHING					
,, ,,	DRAGGING				_	
91 92 11	DUST LAYING ((CA CL)	WII 50	•		
	DOD! EXTING	, o a . o ,	MILES			
OILING			MILES		•	
CURB AND GUTTER REPA					•	
CATCH BASINS CLEAN	IING AND REPAIR	S				
						-
·			TOTA	L ITEM 4		
ITEM 5-MAINTENANCE	-BRIDGES AND	CULVERTS				
BRIDGES			NUMBER			
CULVERTS			NUMBER			
			TOTA	L ITEM 5		
ITEM 6-ENGINEERING	AND OVERHEA	D (MAXIMUM 79	% OF ITEMS 4 A	ND 5)	<u>.</u>	
SUMMARY OF ITEMS EL	IGIBLE FOR SI	UBSIDY UNDER	THE H.I. ACT		CORPOR	ATION'S SHARE ONLY
CONSTRUCTION-ROADS O	OR STREETS		(ITEM 1)			952.80
	AND CULVERTS		(ITEM 2)		\$	
	RING AND OVER	HEAD	(ITEM 3)		· \$	
MAINTENANCE - ROADS			(ITEM 4)		\$	
	AND CULVERTS		(ITEM 5)		\$	
	ERING AND OVER	HEAD	(ITEM 6)		\$	
TOTAL		-			s 52,	952.80

If insufficient room attach additional sheets giving the data in the form indicated

DATE February 19, 1964

ENGINEER OR CLERK